SDAN-VEI (553 R/ Bk£24T) N SDAN-V (RIS ) 160000

SDAN-VX( £ 4RTkE) 130000
0o
i,,,
41| 512 | Wk | 9 | Rty E AT ESTT R
=3 hER| B’z E SDAN-V SDAN-VX SDAN-V SDAN-VX
T e TORE) BE | BN | epsm | ammm |@esm | camn
Ca Coa Ca Coa K K

d Ph dp dc |Fx kN | kN | kN | kN N/um N/um
SDAN 4510V-5 45 10 46 39.4 1X5 | 68.7 |139.4| 65.4 |146.5 1434 1499
SDAN 4510VA-5 45 10 46.75 | 40.2 1X5 | 69.2 |1142.2| 65.9 149 1457 1519
SDAN 4512V-5 45 12 46 39.4 1X5 | 68.6 |1139.4| 65.4 |146.7 1433 1500
SDAN 4512VA-5 45 12 46.75 | 40.2 1X5 | 69.2 |1142.2| 65.9 |149.2 1457 1519
SDAN 4516V-5 45 16 46 39.4 1X5 | 68.5|140.7| 65.3 147 1444 1501
SDAN 4516VA-5 45 16 46.75 | 40.2 1X5 69 |[142.2) 65.8 [149.5 1455 1521
SDAN 4520V-5 45 20 46 39.4 1X5 | 68.4 |1140.7| 65.1 |147.5 1442 1504
SDAN 4520VA-5 45 20 46.75 | 40.2 1X5 | 68.9 |143.6| 65.6 | 150 1465 1524
SDAN 5010V-5 50 10 51 44.4 1X5 72 155.2| 68.6 [163.2 1559 1630
SDAN 5010VA-5 50 10 51.75 | 45.2 1X5 | 72.5 |1158.1 69 165.7 1582 1650
SDAN 5012V-5 50 12 51 44 .4 1X5 72 155.2| 68.5 [163.3 1559 1631
SDAN 5012VA-5 50 12 51.75 | 45.2 1X5 | 72.4 |1158.1 69 165.9 1582 1651
SDAN 5016V-5 50 16 51 44.4 1X5 | 71.9 |156. 6| 68.4 |163.7 1570 1633
SDAN 5016VA-5 50 16 51.75 | 45.2 1X5 | 72.3 |158.1 | 68.9 [166.2 1580 1652
SDAN 5020V-5 50 20 51 44.4 1X5 | 71.7 |156. 6| 68.3 |164.2 1568 1635
SDAN 5020VA-5 50 20 51.75 | 45.2 1X5 | 72.2 |1159.4| 68.8 |166.7 1591 1654
SDAN 5025V-4 50 25 51 44 .4 1X4 | 58.21123.6|55.5(129.8 1249 1304
SDAN 5025VA-4 50 25 51.75 | 45.2 1X4 | 58.6 |125.1( 55.8 [131.7 1260 1319
SDAN 5030V-4 50 30 51 44.4 1X4 58 |[117.5|55.3 [122.6 1258 1307
SDAN 5030VA-4 50 30 51.75 | 45.2 1X4 | 58.4 |1118.9| 55.7 |124.5 1269 1322
SDAN 5040V-3 50 40 51 44.4 1X3 | 43.9 | 86.5|41.8 | 90.7 934 974
SDAN 5040VA-3 50 40 51.75 | 45.2 1X3 | 44.2 | 87.9 | 42.1 92 946 985

SDAN4510V X

T
YN ke

EREREITIC
(RIFERBTARIE)

-5 TT GO +830L C5

— T — T
Bl ZHERRE | LATRERE (8fmm) | FEERRIE 0x2)

%) 4y [E] B ARIE
(SDAN-VEI 4B HGOJE] BR)

(3%1) £H8M15-370. (%2) £HBM15-12.

[15-84 AnAIK

B HAEX THIBERARSTFE A
NFRELS KGR

https://tech.thk.com




514-1C

PRiR A BUG TR AL

L1
H. Br B3 B4
@‘ \
L
{gdc| gd
'=; = 1
g8 DB
B mm
BRRT aitihe (128 @ HiFEE
S iR o |TMENE/ | o | == [ SDAN-V | SDAN-VX
N 2 ,_ STE] = B’q:! EE oy
HE g [EK ER EREL (BESS) | (2THY)
D Di | Li | H|B | B B; B: |PCD | di | Tw A kgem/mm | kg | kg/m | min” min™
70 | 105 | 135 | 16 | 45 | 20 1" 62 | 88 | 11 | 80 |[M8X1|3.16X10°[2.47|11.16 3470 2820
75 | 110 [ 135 16 | 45 | 20 11 62 | 93 | 11 | 85 [M8X1|3.16X10°[3.05| 11.4 3420 2780
70 | 105 [ 158 | 16 | 54 | 20 | 15.6 72 | 88 | 11 | 80 |M8X1[3.16X10°2.84|11.38 3470 2820
75 | 110 | 158 | 16 | 54 | 20 | 15.6 72 | 93 [ 11 | 85 |[M8X1|3.16X10°| 3.5 | 11.58 3420 2780
70 | 105 [ 189 | 16 | 73 | 20 8.8 90 | 88 | 11 | 80 |M8X1|3.16X10°[3.36|11.67 | 3470 2820
75 | 110 [ 189 [ 16 | 73 | 20 8.8 90 [ 93 [ 11 | 85 [M8X1|3.16X10°|4.15|11.82 3420 2780
70 | 105 | 232 |16 | 92 | 20 14 109 | 88 | 11 | 80 [M8X1[3.16X10°[4.03|11.84| 3470 2820
75 | 110 [ 232 ( 16 | 92 | 20 14 109 | 93 | 11 | 85 | M8X1 [3.16X10°| 5 11.96 | 3420 2780
75 | 110 |135| 16 | 45 | 20 " 62 | 93 | 11 | 85 | M8X1|4.82X10°|2.69|13.93 3130 2540
82 | 118 (135 | 16 | 45 | 20 1 62 (100 | 11 | 92 [M8X1|4.82X10°|3.58 | 14.2 3090 2510
75 | 110 | 158 | 16 | 54 | 20 | 15.6 | 72 | 93 | 11 | 85 |M8X 1 |4.82X10°[3.08|14.19 | 3130 2540
82 [ 118 | 158 | 16 | 54 | 20 | 15.6 72 (100 | 11 | 92 [M8X1|4.82X10°|4.12 | 14. 41 3090 2510
75 | 110 | 189 | 16 | 73 | 20 8.8 90 | 93 | 11 | 85 [M8X1|4.82X10°|3.65| 14.5 3130 2540
82 | 118 | 189 | 16 | 73 | 20 8.8 90 | 100 | 11 | 92 | M8X1 |4.82X10°(4.89 | 14. 67 | 3090 2510
75 | 110 | 23216 | 92 | 20 14 109 | 93 | 11 | 85 [M8X1|4.82X10°|4.39 | 14.69 3130 2540
82 | 118 (232 | 16 | 92 | 20 14 109 [ 100 [ 11 | 92 | M8X 1 |4.82X10°¢|5.89 | 14.83 3090 2510
75 | 110 | 23516 | 90 | 20 | 20.5 | 108 | 93 | 11 | 85 |M8X1 |4.82X10°|4.41|14.82 3130 2540
82 [ 118 |235| 16 [ 90 | 20 | 20.5 [ 108 [ 100 | 11 | 92 [M8X1|4.82X10°|5.93 | 14.95 3090 2510
75 | 110 [ 265 | 16 |110| 20 | 10.7 [128 | 93 | 11 | 85 |M8X1 [4.82X10°¢|4.96 | 14.92 3130 2540
82 | 118 [265| 16 [110| 20 | 10.6 [128 (100 [ 11 | 92 [M8X1 [4.82X10¢| 6. 67 | 15.03 3090 2510
75 | 110 [ 268 | 16 |108| 20 | 17.5 [126| 93 | 11 | 85 |M8X1 [4.82X10°|4.98 | 15.06 3130 2540
82 | 118 | 269 | 16 [108| 20 | 17.3 | 126 (100 | 11 | 92 [M8X 1 |4.82X10°| 6.72|15.13 3090 2510
5] i8] R AL mm
[B]BREARIT GO
4hE) E] B [EDES
HOLWBLBRTARSEREHBA TR, REHRRAORTMC YRR,
LATHEIRECAE s R A A Tt R R T A E A, B EITHOA .
) RFHRMRIMER R T BEEH, S ERIRIEMAREAGTENE (Ca) 10540 Fao \Y
T MG N BB S RO BIE AT, P ST RISE A RS R S0 K=K ( o )
X B R B R A L E IR 2 S EOAR S SR ORI (R, BRI SR R B BB 0% A A B 0.1Ca

HIEAE

GNRFAE F17e (Fao) A =20. 1CakT, MITEE (KD AT T K H

EHE=E015-369

ALK

K: R~FRARINIEE.

IX15-85





